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Run 4496 quartetwise, posH(O: Beam DH
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. Run 4486 quartetwise, asymOsub: Beam ON
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Run 4496 quartetwise, negHO: Beam DIN

Entries: 43391
Mean: -0.274% +/- 0.0006

entries: 1194931
Mean: -0.2830 +- G.000
ol Dew: §L1435 +- 0000

—— Laser ON
— Laser OFF
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Std Dev: 0.1382 +/- 0.0005 —D.2749
0.1382
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-------- Histogram Vars
Positive Hel (ON): -0.263153 +/- 0.000415
Negative Hel (ON): -0.263006 +/- 0.000414
Positive Hel (OFF): -0.275280 +/- 0.000647
Negative Hel (OFF): -0.274911 +/- 0.000647

-------- Sums and Diffs

On Diff: -0.000147 +/- 0.000127

Off Diff: -0.000369 +/- 0.000205

On Sum: -0.526160 +/- 0.000819

Off Sum: -0.550192 +/- 0.001277
-------- Asymmetries

On Asym: -6.117017 +/- -5.278788 (ppt)
Off Asym: -15.349828 +/- -8.571693 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 0.024032 +/- 0.001517
BkSub Asym: 9.232811 +/- 10.066753 (ppt)
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Run 4496 quartetwise, bcm vs time

Run 4496 quartetwise, asymQ0sub vs time
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